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H Bi&% % (4] - 2] =) [Junior Primary Group (Primary 1 to 2)|

1. 3B ¢ § enlicE o

Fill in suitable number.

2. RypTRRE KT - tgHE -
According to the following pattern, find the next figure.

ANEROA

3. likF G L RF LN N L REL S Mk AR PG RS R
Ice has 6 candies and Kuen has 16 candies. How many candies are required for Kuen to give to Ice so that
they have the same number of candies?

/%7 &5 (-] =1 ]w=)/MiddlePrimary Group (Primary 3 to 4)

1. FR1+2+3+4+..4+19+20 5708 o
Find the value of 1+2+3+4+...+19+20.

2. TR R -
Find the perimeter of the following figure.

16

3. kB HEEF A6 AT o R kS 104 0 R kT P S AARE Y
Kuen and Ice have 46 pencils altogether. Kuen has 10 more than Ice. How many pencils does Ice have?
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/8% #5% (-] 73 ]>)/Senior Primary Group (Primary 5 to 6)

1. $11,111x11,111 i@ -
Find the value of 11,111x11,111.

2. TEh: Y S BLORES o XIS MAELEE5m L B ) 1 MR L 3m o R
et o ff o
The following figure is formed by 2 cubes. The edge of the large cube is 5¢cm. The edge of the small cube
is 3cm. Find the surface area of the following figure.

NS

ES

3. %12 3frdvrrled Bt € hikF hz ik ?
By using 1, 2, 3 & 4, how many 3-digit numbers can be formed without repeated numbers?

\t‘ i E% % (¥ - 3¢ =) [Junior Secondary Group (Secondary 1 to 2)\

1. $£3.4342.017 thig » & 12 R O TR

Find the value of 343 + 2.(.)1% and show your answer in recurring decimals.

2. ¥ 2017 chi F]F e o
Find the sum of all positive factors of 2017.

3. %4 %mE - ABJCD » FG=FH - & ZAGH =x° » f x ehig o
In the figure below, if AB /CD, FG=FH and ZAGH = x°, find the value of x.
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\v’ g9 g (¥ =3¢ e %) /Middle Secondary Group (Secondary 3 to 4)\

1. #sin A+cosA:% » Fesin Acos A =g o

If sin A+cos A:% , find the value of sin Acos A.

2. EX+14x+45=0 > KF B X PE L E o
If x*+14x+45=0, find the largest real possible value of x.

3. %¥ B FIM£Z 435 ABC ¥ o % AB=30 + BC=504r /BAC =90° » K L = o
In the figure below, a circle is inscribed in AABC, if AB=30,BC =50 and ZBAC =90°, find the
radius of the inscribed circle.

A




¥ %/ Answer|

TI M o \;@ Thailand International Mathematical Olympiad

-]+ & %/ Primary Group

| B G E ke
Junior Primary Group
1.34

,

3.5

B E e
Middle Primary Group
1.210

2.48

3.18

N E R E s
Senior Primary Group
1. 123,454,321

2. 186

3.24

¢ & / Secondary Group
P E e
Junior Secondary Group

1. 5.451360

2.2018
3. 160

P E s/
Middle Secondary Group

1 -2
32

2. -5

3.10




